Whole Number Worksheet
P4 Mathematics CA2 2015

References: P4 Math CA2 2015 NHPS
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For each question, four options are given. One of them is the correct answer.
Make your choice (1,2,3 or 4).

1. The first common multiple of 6 and 9 is

(@H)] 12

2 18

3 36

(4 54 ( )
2. There are hundreds in 23 000.

(@) 2 300

2 230

3 23

4 0 ( )
3. A number when divided by 16 gives a quotient of 579 and a remainder of 3.

What is the number?

(@) 1753

(2) 9216

3 9264

4 9 267 ( )
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Write your answers in the spaces provided. For questions which require units, give your
answers in the units stated.

4, Write 34 ones, 6 tenths and 12 hundredths in numerals.
Ans:
5. In 123.095, the value of the digit ‘9’ is in the place.
Ans:
6. List all the common factors of 15 and 25.
Ans: The common factors are
7. Round off the product of 7 548 and 6 to the nearest hundred.
Ans:
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8. Mrs Shanti made 546 chocolate and butter cookies.
She made twice as many chocolate cookies as butter cookies.
How many chocolate cookies did she make?

Ans: chocolate cookies

9. Bryan wants to give out lollipops to his party guests. If he gives each guest 5 lollipops,
he will have 9 lollipops left. If each guest is to receive 6 lollipops, he will be short of 3
lollipops. How many lollipops does he have?

Ans: lollipops
10. What is the missing number?
WP
+C) @ = 38
Ans: lollipops
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Answer Key

Verified by www.sgtestpaper.com

Subject: Primary 4 Maths — Whole Numbers
Paper: CA2 2014

Q1 Q2 Q3

2 2 4
4, 34.72
5. Hundredths
6. 1,5
7. 45 300
8. 546 /3 =182

182 x 2 = 364 chocolate cookies
9. give out 5 lollipops ->5,10,15,20,25,30,35,40,45,50,55,60
+9 remainders -> 14,19,24,29,34,39,44,49,54,59,64,69
Give out 6 lollipops ->6,12,18,24,30,36,42,48,54,60,66,72,78
+3 remainders ->9,15,21,27,33,39,45,51,57,63,69,75,81
Answer -> 69 lollipops
10. heart=38-24=14
Smiley =24 -14 =10
Heart — smiley =14 - 10 =4

References:
(Q1,2,3,4,5,6,7,8,9,10) = NHPS (Q1,2,3,21,24,27,28,31,32,36)
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